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Match gases under specified conditions listed in Column I with their properties/laws in Column II. Indicate your answer by

darkening the appropriate bubbles of the 4 x 4 matrix given in the ORS. (2007)
Column I Column I1

(A) Hydrogen gas (P =200 atm, T7=273K) (p) Compressibility factor # 1

(B) Hydrogen gas (P~0,7=273K) (q) Attractive forces are dominant

(©) CO,(P=1atm, T=273K) () PV=nRT

(D) Real gas with very large molar volume (s) P(V—-nb)=nRT
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(A):(p) and (s)

(B):(r)

(O):(p)and(q)

(D):(r)

Because 200 atm pressure is very large.
For H, gas, at very high pressure Z> 1.
Since P ~ 0, it means very low presure,
so ideal behaviour is observed.

Since Pis | atm, Z for CO, would be less
than 1.

Inreal gas with very high molar volume,
molecules will be very far apart from
each other due to which van der Waal's
forcesas well as actual volume occupied
by molecules will be negligible.




